1300 655 554 info@thenova.com.au 7 Audsley Street
- T www.thenova.comau T Clayton South VIC 3169
POWERED HOPERGY
Product Specification RA-NOV -0000 Ver: 1.0

17.4

12.15%¢

8.5 ”]
=

%

30 L

Name NOVA New Rail

Stock Code HOP-F55-0000

Weight(Kg/m) 0.647

BOM HOP-F55-0000 (AL6005-T5) x 1
Packing 600 pcs

Carton size TBA




1300 655 554 info@thenova.com.au 7 Audsley Street

- ~  www.thenova.com.au —  Clayton South VIC 3169
POWERED HOPERGY
Product Specification SK-NOV Ver: 1.0
-
|
«S
150
¢ $
{ s $
$ = 3
n
Name NOVA New Inner Rail Joiner
Stock Code SK-NOV
Weight(g) 69
BOM HOP-F56-0150 (AL6005-T5) x 1
HOP-L36-0013 (SUS304) x 1
Packing 20PCS

Carton size 260X205X%X180




1300 655 554 info@thenova.com.au 7 Audsley Street
T ~  www.thenova.com.au T Clayton South VIC 3169

POWERED HOPERGY

Product Specification PC-NIC40-NS6 Ver: 1.0

e
g a
18
Name NOVA Universal Panel Inner Clamp  (30-40mm)
Stock Code PC-NIC40-NS6

Weight(g) 61

HOP-G44-0050 (AL6005-T5) x 1
HOP-L37-0040 (SUS304) x 1
HOP-G48-0016 (AL6005-T5) x 1
HOP-L26-0004 (SUS304)x 2
Packing 100pcs

Carton size 260X205X180

BOM




1300 655 554 info@thenova.com.au 7 Audsley Street
T ~  www.thenova.com.au T Clayton South VIC 3169

POWERED HOPERGY

Product Specification PC-NEC40-NS6 Ver: 1.0

3

[

T

<~ I —
e -
[ W§ =+
2]
&
18 18
Name NOVA Universal Panel End Clamp (30-40mm)
Stock Code PC-NEC40-NS6
Weight(g) 57

HOP-G45-0050 (AL6005-T5) x 1
HOP-L37-0040 (SUS304) x 1
HOP-G48-0016 (AL6005-T5) x 1
HOP-L26-0004 (SUS304) x 1
Packing 100pcs

Carton size 260X205X180

BOM




1300 655 554 info@thenova.com.au 7 Audsley Street
T ~  www.thenova.com.au T Clayton South VIC 3169

POWERED HOPERGY

Product Specification TRH-FO01-RFN Ver: 1.0

10.25

ey &5 3 f‘
i 45 . i }
4 { Ay s U L—@grﬂ.sxm
\J Hil &,
== 219 &
2 2 : '
106.% 8 | @
1 Lf B @ :@':
1T T : jaﬁﬁ;’
I 156.5 180 0
5
Name NOVA NEW Fixed Hook #1
Stock Code TRH-FO1-RFN
Weight(g) 686
HOP-B001-000 (SUS304) x 1

HOP-H40-0032
HOP-H41-0025 (AL6005-T5) x 1
HOP-L93-0018 (SUS301) x 1
M8*35 Hexagon socket head cap screws (SUS304) x1
M8 internal tooth lock washer (SUS304) x1

Packing 60pcs

Carton size 540X220X200

AL6005-T5) x 1

BOM

—~




1300 655 554 info@thenova.com.au 7 Audsley Street
- T www.thenova.comau T Clayton South VIC 3169
POWERED HOPERGY
Product Specification TRB-F16-RFN Ver: 1.0

32 4.5"5m
25

= Vs
i L
40
Name NOVA New L Feet Kit (Flat)
Stock Code TRB-F16-RFN
Weight(g) 166

SL-W01-0040 (AL6005-T5) x 1
HOP-H40-0032(AL6005-T5) x 1
HOP-H41-0025(AL6005-T5) x 1

BOM HOP-L93-0018(SUS304) x 1
M8*35 Hexagon socket head cap screws (SUS304) x1
M8 internal tooth lock washer (SUS304) x1
SL-X01-0010 (EPDM) x1

Packing 44pcs

Carton size 260X205%X180




NCVA

POWERED HOPERGY

1300 655 554 info@thenova.com.au 7 Audsley Street
~  www.thenova.com.au T Clayton South VIC 3169

Product Specification

TRB-AFL-RFN Ver: 1.0

8y
I

S,

|

/A
A

Name
Stock Code
Weight(g)

BOM

Packing
Carton size

NOVA NEW Adjustable Front Leg

TRB-AFL-RFN

324

HOP-H81-0038 (AL6005-T5) x 1

HOP-H40-0032 (AL6005-T5) x 1

HOP-H41-0025 (AL6005-T5) x 1

HOP-J62-0030 (AL6005-T5) x 1
HOP-L93-0018(SUS304) x 1

HOP-K03-0040 (EPDM) x 2

M8*35 Hexagon socket head cap screws (SUS304) x1
M8*45 Hexagon socket head cap screws (SUS304) x1
M8 internal tooth lock washer (SUS304) x1

20pcs

260205180




1300 655 554 info@thenova.com.au 7 Audsley Street
- ~  www.thenova.com.au —  Clayton South VIC 3169
POWERED HOPERGY
Product Specification TRB-ARL-F00-RFN Ver: 1.0
4.55m
I
O
\ﬁ | 2.3
¢ =
2 1
4 4
‘ N O
i )
~N
& anL“T
No. part No. Featuro iz Weightg) | Packing | Carlon Size
a L1 L2
1 | TRB-ARL-F15-RFN | 10~15° | 200 200 0.695 40pcs 540x220x380
TRB-ARL-F30-RFN | 15~30° | 360 360 0.908 20pcs 540x220x380
3 | TRB-ARL-F60-RFN | 30~60° | 660 660 1.309 20pcs 540x220x730
Name NOVA NEW Adjustable Rear Leg
Stock Code TRB-ARL-FO0-RFN
Weight(g) See above table

HOP-H81-0038 (AL6005-T5) x 1
HOP-H40-0032 (AL6005-T5) x 1
HOP-H41-0025 (AL6005-T5) x 1
ALB005-T5) x 1
ALB005-T5) x 1
HOP-J63-0025 (AL6005-T5) x 1
HOP-L93-0018 (SUS301) x 1
HOP-K03-0040 (EPDM) x 2
ST6.3*25 Self-tapping screw(SUS 410) x 1
M8*20 Hexagon socket head cap screws (SUS304
M8*35 Hexagon socket head cap screws (SUS304
M8*45 Hexagon socket head cap screws (SUS304
M8*50 Hexagon socket head cap screws (SUS304
M8 internal tooth lock washer (SUS304) x1
M8 flange Hexagon Nuts (SUS304) x 1
M8 1 type non metal insert six angle locking nut x 1
Packing See above table
Carton size See above table

HOP-J06-0000
HOP-J07-0000

BOM

x1
x1
x1
x2

~— ~— ~— ~—




1300 655 554 info@thenova.com.au 7 Audsley Street
T ~  www.thenova.com.au T Clayton South VIC 3169

POWERED HOPERGY

Product Specification HOP-TRB-C12 \Ver: 3.1

« >
L

VL
e |
4)
\jﬁ ==
cH =
28 . .
sEmisel —O—0— _
71T — =
B3 =
1314
3 30
52
& L
pyal i}
IR | B
Name Small Kliplok Interface Bracket
Stock Code TRB-C12
Weight(g) 190

HOP-H29-0052 (AL6005-T5) x 1

HOP-H30-00052 (AL6005-T5) x 1

HOP-H30-00X52 (AL6005-T5) x 1

HOP-K12-0060 (EPDM) x 1

M8*28 Hexagon socket head cap screws (SUS304) x2
M8*16 Hexagon socket head cap screws (SUS304) x1
Packing 170pcs

Carton size 540X220X200

BOM




NCVA

POWERED HOPERGY

1300 655 554 info@thenova.com.au 7 Audsley Street
~  www.thenova.com.au T Clayton South VIC 3169

Product Specification

TRB-C08-RCN Ver: 1.0

Name
Stock Code
Weight(g)

BOM

Packing
Carton size

- -

d
é

<
S —1

£ Y
N h vy

100

NOVA NEW Kiliplok Interface Bracket
TRB-C08-RCN

413

HOP-H14-0100 (AL6005-T5
HOP-H15-0100 (AL6005-T5
HOP-H16-0100 (AL6005-T5
HOP-G50-0038 (AL6005-T5
HOP-K05-0100 (EPDM) x1
M8*30 Hexagon socket head cap screws (SUS304) x2
M8*25 Hexagon socket head cap screws (SUS304) x1
10pcs

260X205X180

x1
x1
x1
x1

J S



1300 655 554 info@thenova.com.au 7 Audsley Street
T ~  www.thenova.com.au T Clayton South VIC 3169

POWERED HOPERGY

Product Specification HOP-TRB-C16 \Ver: 3.1
.
vl
" ov Y ¢
L
0 L
w

&
i~
2.5 [ 2
18.4 |\
-5 :
52
Name RIB Roof Bracket
Stock Code TRB-C16
Weight(g) 191
HOP-H29-0052 (AL6005-T5) x 1
HOP-H49-0052 (AL6005-T5) x 1
HOP-H49-0X52 (A -
BOM O 9-0X52 (AL6005-T5) x 1

HOP-K37-0052 (EPDM) x 1
M8*16 Hexagon socket head cap screws (SUS304) x1
M8*35 Hexagon socket head cap screws (SUS304) x2
Packing 30pcs
Carton size 260X205X180

—~




1300 655 554 info@thenova.com.au 7 Audsley Street
T ~  www.thenova.com.au T Clayton South VIC 3169

POWERED HOPERGY

Product Specification HOP-TRB-B06 Ver: 1.0

- - - bt -
. —]
pl 0 — i
i b= ! | i
I LY I — 1 1 X T
i [ T s S
= A N
7 ANV S =
,-'-/"i-"x i 'hi\‘l\\ % L ¥
(7 )
L 64. 55 | —
Name RIB ROOF BRACKET
Stock Code TRB-B06
Weight(g) 112

HOP-H53-0052 (AL6005-T5) x 1

HOP-K38-0052 (EPDM) x 1

M8*16 Hexagon socket head screws (A2-70) X1

St6.3*25 Hexagon tapping and self-drilling screws
(SUS410) x4

Packing 40pcs

Carton size 260X205X180

BOM




NCVA

POWERED HOPERGY

1300 655 554 info@thenova.com.au 7 Audsley Street
~  www.thenova.com.au T Clayton South VIC 3169

Product Specification

DS-200M10A1-S16-RCN Ver: 1.0

Name
Stock Code
Weight(g)

BOM

Packing
Carton size

T

‘t W

00

200

5.5

F@)

NOVA NEW Double Threaded Rafter Screws M10*200mm
DS-200M10A1-S16-RCN

260

HOP-G50-0038 (AL6005-T5) x 1

M8 Hexagon Nuts (SUS304) x 1

M8*30 Carriage screws (SUS304) x 1

HOP-D005-100 (AL5052-H32) x 1

®24X13.5 Rubber mat (EPDM) x 1

M10*200 Double Threaded Rafter Screws (SUS304) x1
M10 flange Hexagon Nuts (SUS304) x 3

M8 washer (SUS304) x1

30pcs

260X205X180




________________________________
NCVA

POWERED HOPERGY

1300 655 554 info@thenova.com.au 7 Audsley Street
T ~  www.thenova.com.au T Clayton South VIC 3169

Product Specification

AC-RFN Ver: 1.0

&
fﬂ'\i\
-
e

35

Name
Stock Code
Weight(g)

BOM

Packing
Carton size

(39)

NOVA NEW Rail Clamp

AC-RN1

72

HOP-H40-0032 (AL6005-T5) x 1

HOP-H41-0025 (AL6005-T5) x 1
HOP-L93-0018(SUS304) x 1

M8*35 Hexagon socket head cap screws (SUS304) x1
M8 internal tooth lock washer (SUS304) x1

165pcs

260X205X180




NCVA

POWERED HOPERGY

1300 655 554

info@thenova.com.au 7 Audsley Street

~  www.thenova.com.au ~  Clayton South VIC 3169

Product Specification

RA-RCN Ver: 1.0

5.67

4.5

[ T}\
N
— L
[ma | a _ |

s |

| b

7
Y 9.4
Name
Stock Code
Weight(g)
BOM
Packing

Carton size

(27.15)

10.5 ‘

NOVA New Rail Clamp
RA-RCN
15

HOP-G50-0038 (AL6005-T5) x 1

200pcs
260X205X180




1300 655 554 info@thenova.com.au 7 Audsley Street
_ ~ www.thenova.com.au —  Clayton South VIC 3169
POWERED BY HOPERGY
Product Specification HOP-AC-PCCO01 Ver: 1.0

'Y,

i

¢

10.1

13.7

%

12,7

24.8
Name Two Line Panel Cable Clip Type S
Stock Code AC-PCCO01
Weight(g) 4
BOM HOP-L16-0025 (SUS304) x 1
Packing 2000pcs

Carton size 260X205X%X180




1300 655 554 info@thenova.com.au 7 Audsley Street
T ~  www.thenova.com.au T Clayton South VIC 3169

POWERED HOPERGY

Product Specification HOP-AC-ELGO02 Ver: 1.0

Ealies
S

30.2
40.2

Name ULT Earthing Lug
Stock Code AC-ELG02
Weight(g) 51

HOP-J65-0020 (AL6005-T5) x 1
BOM M8*12 Hexagon socket head cap screws (SUS304) x 1

M8*20 Hexagon socket head cap screws (SUS304) x 1
Packing 200pcs

Carton size 260X205X%X180




1300 655 554 info@thenova.com.au 7 Audsley Street
- T www.thenova.comau T Clayton South VIC 3169
POWERED HOPERGY
Product Specification HOP-AC-PCCO08 Ver: 1.0

1>
I ——]
15
18
|
LI AT/ NG P
Name Four Line Panel Cable Clip
Stock Code AC-PCCO08
Weight(g) 10
BOM HOP-L43-0018 (SUS304) x 1
Packing 650pcs

Carton size 260X205X%X180






